Downl oaded From : http://sscportal.in/

.o . |l @siiee (frav -1) adiam 99x 2017 12 3191Fd 2017 grag? $r grelt

(ATATcAS A1) SSC CGL (Tier - 1) Online Exam Paper - 2017 "held on
12 August 2017" Afternoon Shift (Quantitative Aptitude)

QID : 151 -fAfaf@d 7 & et &1 qut qo1 &7 31S 37 FET &1 Fehell &2
Options:
14

2)6
3)8

4)9

Correct Answer: 8

QID : 152 - 37X Teh 1 1 30 el 7 G T HehclT & AT THA 3 S T 15 Tl H QU A Fohell ©| Al SNt
fPoret s &Y, ot 4 T  Foot 1 T Tebctett ferer &1 g7 81 Sem?

Options:
1) 15

4) 45

Correct Answer: 40

QID : 153 - Ueh HHoId hl &l HATC 3T T oS 21 WA U1 9 A, ¥ IS 38h S=1g 10 QAT &, o
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TGS T S TB (V.FY.2 F) RicT gram?
Options:

1) 35

2)75

3) 150

4) 225

Correct Answer: 150

QID : 154 - 20%, 10% TUT 30% T cfIeT shiAeh el H fAaer (Aie) ge ufaerd 1 grei?
Options:
1) 45.2

2)49.6
3)54.6

4)50.4

Correct Answer: 49.6

QID : 155 - clieT FHTET &THT T Sclell & G T Tleit & TRAOT T T heAR: 5: 7,7 : 9 AT 21 1§ ST el
SicTel ohY Teh FST SicTel & WrelT Y e STl | =13 TAS0T F g &t yfaerd fehd=mg?

Options:

1) 49.6

2)52.3

3)51.2

4) 50.7

Correct Answer: 50.7

QID : 156 - AT &1 & & Tcdeh o Ueh Wiolde W 14 &, T fohd § IUT 3164 AT« Tl e & 3iaa @a ¥ 21 %.
SareT @ forT &1 37 ganT @d & a1 o TR (3. ) Frctaht §7

Options:

1) 133

2) 136

3) 141

4) 155

Correct Answer: 136

QID : 157 - Ueh ST o 379 holef 24 T. & S TUT 3T o187 FTARNT TEATHR T Hed & ST AT| FHold T
T Hed (3. F) T AUT?
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Options:
1)12
2) 14
3) 16
4) 20

Correct Answer: 20

QID: 158 - A, BAATC AT BT & | A Tl B ¥ 36% 31k FHA dUT C T 16% 311k 37 UTed gl ¢ | TS B T 145
37 1ol §31T &, A C T fohcel 37k YTect U glar?

Options:

1) 120

2) 110

3) 80

4)75

Correct Answer: 80

QID : 159 - Ueh THe FXFA I & 16 54 T # Y. 9y €t hr a1fl & Torall § T FREAT S § uger 48 fan .
i ger 1 1T F TeldT & | ATFAT HA & 916 I8 Ueh (AR g &l 6 8¢ 7 7 AT 8 | ATFAT o & Igel I8
AT &1 Y TF et A TehcTall THY ofamT?

Options:

1)6 8¢ 15 fAsic

2) 6 g¢ 45 fAaAT

3)78c

4) 7 €< 30 fAaTe

Correct Answer: 6 ©¢ 45 f&sTc

QID : 160 - Ife 5 T 4 FEAT 3 FTUROT TS T X § Tah A Rad WY ¥ § FAeett g7 el &, i arfies et X
(% F) FT gIamr?

Options:
1) 18.75

2)27.5
3)37.5

4)42.25

Correct Answer: 37.5
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QID:161-ICa+b+c=11dUTab +bc +ca=17g, dras + bs + ¢ — 3abc T AT FIT ZIM?

Options:
1) 121
2) 168
3) 300
4)770

Correct Answer: 770

QID : 162 -

If x* +i =62, then what is the value of x® +i?

}'{’4

J|{,E

ofe x4+i4=62,r-|’r X6+ \ @ e g7

X xB

Options:
1) 144
2) 288
3) 396

4) 488

Correct Answer: 488

QID : 163 -

If x + y =4, then what is the value of

2 _»

x—2+y—2'

afg x+y=4,ar ‘ 2 T AT T &7

x—2+y—2
Options:
1) -1
2)0
3)4

4)16

Correct Answer: 0
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QID : 164 -TTE (x/5) + (5/x) = — 2 §, Tl xo T AT T g2
Options:

1) -125

2)5

3) 1/125

4) 625

Correct Answer: —125

QID : 165 - APQR #, 2QPR = 45° 74T £PQR T PRQ #I &fasirsteh fdg O W fAeldr &1 2QOR a1 #re (TSl
) 1 grem?

Options:

1) 107.5

2)112.5

3)117.5

4)122.5

Correct Answer: 112.5

QID : 166 - f33{sT ABC #, LABC = 90° ¥ BP, AC W oo TaT J1aT & | Ife £BAP = 30°, At .PBC T #1eT ({3l
) FI7 gremm?

Options:

1) 30

2)36

3)45

4) 60

Correct Answer: 30

QID : 167 -
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In the given figure, PQRS is a rectangle and PTU is
a triangle. f PQ=11cm, UR=8cm, TR=1cm
and QT = 3 cm, then what is the length (in cm) of
the line joining the mid points of PT and TU?

&1 7% HTPa A, PQRS Tk HTIT & 92T PTU T
o= &1 ofg PQ =113, UR=833, TR=1
T FW QT =3 Q. & Ot PTIW TU & AT
Rig =1 B aeh W # s @ #)

&?
P Q
\ HH“‘HH
s
\\ ____-—f‘"_;h T
—
ST R
Options:
1)2.5
2)3
3)4.5
4)5

Correct Answer: 2.5
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In the given figure, area of isosceles triangle PQT is
72 cm?. If QT = PQ, PQ = 2 PS and PTISR, then
what is the area (in cm?) of the trapezium PQRS?

& 7 Py A, Ffeag TR PQT &1 S

7282 T QT = PQ, PQ =2 PS 2T PTISR &,
I HEFT PQRS & &% (.3, H) wFar &2

& P
5,
z
awa
v /
T
7 il
R T Q
Options:
1) 144
2)216
3) 256
4) 288

Correct Answer: 144

QID : 169 - (cosec A + sin A)(cosec A — sin A) 3T AeiIehd HIel FIT8?
Options:

1) cos?A + cotz A

2)2 cosz A

3) 2 cotz A

4) 2 cos AcotA

Correct Answer: cos? A + cotz A

QID : 170 -
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What s the simplified value of | 558 , 9CA ,
secA-1 secA+1
secA | €A o mefga AE o b
secA-1 secA+1
Options:
1) cosec A
2) V2 cosec A
3) 2 sec’A
4)sec A
Correct Answer: V2 cosec A
QD : 171 -
, 2
What is the simplified value of | %S4, _SNA |,
(1—-tanA) (1-cotA)
cos A sin A i
+ T TLellhd AT T &7
(1—tan A) m-cotAJ & €
Options:
1)sin A+ cos A
2) 1+ sin2A
3) 1+ cos A

4)tan A+ cot A

Correct Answer: 1 + sinzA

QD : 172 -
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The line chart given below shows the per acre yield (in million
tonnes)oftea of 7 countries.

g BT v Wy Ry F 7 & & 9w & 93 veE IEA
(AT & &) Fr g 3T 2

) 350 7 300

S %& 300 - 272

EIE 250

- 250 -

S

Eg 200 -

=

c & 150 |

= 162 120

EE 100 4

@ 104

- 50 - 82

= -

E‘E D EEIE I% I_“E? I“_“? I:-é IE 1

E‘E EE . EEE‘E%EE 4

E Sdgae AT e (e %
&5 e

Country / &1

3T 7 &2l Pr3itad ufa vehs 3curest (FAfeas oo #) foraetr g2
Options:

1) 163.14

2) 184.28

3) 146.78

4) 198.26

Correct Answer: 184.28

QID : 173 -
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The line chart given below shows the per acre yield (in million
tonnes)oftea of 7 countries.

g BT v Wy Ry F 7 & & 9w & 93 veE IEA
(AT & &) Fr g 3T 2

v 350 71 359
S & 300 272
5[5 250
= 250 ~
&
= g 200 ~
E = 150 -
- 162 120
o E 100 -
o 104
by 50 - 82
g E. D T T T T T T 1
) ® © c © T o ©
o 5
<€ EEEEEE/E‘E%EE 2
= ; o © = B o
) F 5
Country / &1
Y 3T ScUTee drel 3 ¢RIl & 3l T Tehg 3cdTeet T Had e 3 21t o 3T Gt Tehs Scuteet & 37t
SHERA: FIAT G2
Options:
1) 148 : 65
2)201: 149
3)89:69
4) 137 : 51

Correct Answer: 137 : 51
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The line chart given below shows the per acre yield (in million
tonnes)oftea of 7 countries.

g BT v Wy Ry F 7 & & 9w & 93 veE IEA
(AT & &) Fr g 3T 2

) 350 7 300

S %& 300 - 272

EIE 250

- 250 -

S

Eg 200 -

=

c & 150 |

= 162 120

EE 100 -

@ 104

- 50 - 82

= -

E‘E D EEIE I% I_“E? I“_“? I:-é IE 1

E‘E EE . EEEE%E,@ 4

E Sdgae AT e (e %
&5 e

Country / &1

HR AT el T el G Tehg ScuTet STehT SR & Fel Tfd Tehg ScuTeet I fohctll Ffderd &2
Options:

1) 44.34

2) 56.68

3) 83.24

4) 79.66

Correct Answer: 79.66

QID : 175 -
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The line chart given below shows the per acre yield (in million
tonnes)oftea of 7 countries.

g9 Brar mr R A 7 3 & 9w F 93 T Iea
(AT & &) Fr g 3T 2

m 350 71 359
S & 300 272
= 5 250
b 250 ~
&
= g 200 ~
E & 150 A
= 162 120
o E 100 -
D 104
..“.% 50 - 82
g E. D T T T T T T 1
o m @ = © N o ©
o e o = &
<€ EE%EEE/E‘E%EE 2
= — & o SR =¥
) F 5
Country / &1
T S2lf T Uf Uehs 3cUTesT o 3TRIGT haT F eaiedd fohar 3T §1 Ife A 2 ¢2r 319 Ui Uehs 3curee &l 20%
T T & T a1hr Tt 227 319 T Tehs 3cutee T 10% & 9oTd &, df Ufd Uehs 3curee &1 o1 3 (Rfeaa
T H) FaT 87
Options:
1) 205.37
2)210.82
3)201.19
4) 199.26

Correct Answer: 205.37
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